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RRB ALP & TECHNICIANS 2018

[Roll No: |
|Participants Name:|
[Test Center Name: [ION DIGITAL ZONE IDZ Dhanbad

[Test Date: [14/08/2018
Test Time: 1:00 PM - 2:00 PM
Subject: ALP Technicians

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 Iy FET SEIHFARE F FT A7 T ST AT ¢

Solid carbon dioxide is known as:

Ans
X1_=‘\'\=raﬁs
gas ice
, e %
wet ice
x3_3’ma1%
solid ice
& %
4.
dry ice
Q2 Fya W AAEF FER F ik o # B g A far #a a1 e
g & &

x

v

T
IFER F ITA T F, IR W AT FFEE A @t gl

s
1. e dae fSaer gfeae =@ §)
2. HFET G P HTSN AT FAAT T8 81

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
Akbar said to his queen, “Birbal is the wisest man in my kingdom.”

Assumption:
1. Akbar is not as wise as Birbal.
2. Akbar wants Birbal to become the next king.

Ans X1-1 AR 2 o=t Afga &

Both 1 and 2 are implicit

Faor 3gAe 1 AT 7
2.

Only assumption 1 is implicit

xgl;rah Irafrefdfga

Neither 1 nor 2 is implicit
Faa A 2 AT &
4.

Only assumption 2 is implicit

v

X
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Q.3

35 35

FES B B B R

jan feb mar apr may jun
jan- Staadr feb- HTEET mar- AT
apr- 3T may- #S Jun- 57
T T A% X AT & & 2017 F 6 FE F e et AR For At
N (FR ) g F1
Al T H, TEEN TEAT a5F (3[) F AN GEY WEA o gt (M) F
2T 1
T 1T Ser & HUR W, AT 2017 F a5 F AT TShpa ag=r Hr
T T 2

B B .S

jan feb mar apr may jun

The given graph shows the registration of bikes and total vehicles (in thousands) for 6
months in 2017 in City X.

Note: In the chart, the first number represents bikes (grey) and the second number
represents total vehicles (black).

Based on the given data, in March 2017, the number of vehicles other than bikes
registered is:

2 19000

X 215000
# 311000
v 410000

A T 3T EeT @ W dt ee B B
Alan flame is produced when the oxygen supply is sufficient.
orange

CIEE

X2

red

x: &

green

Arelr
blue

X

v &

el fvsror # 3@ 3 ol 1 a7 : 8 § Sl aw R dWee @
Hae 6:7 31 sor F Yo ARk deie F s w2

The ratio of sand to gravel in a mixture is 7 : 8 while that between gravel and cement is 6 :
7. What is the ratio of sand to cement in the mixture?

Ans X' 1.8 :6
v23:4
X349 : 48
X477
Q.6 f=faf@e # & Fia @1 s gEafaw s # fega st F Rafd

T ?
‘Which of the following devices converts Chemical energy into Electrical energy?

" faega e
Electric cell

2 fega Jar
Electric fan

| T

Hair dryer

x
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x4ﬁ€gﬁéﬁu

Electric heater

Ans

A e Rremer & e Presw o G7 § aREfdd & S § a e pH
TAX faraar @ & gerEer g ¥
If a solution turns blue litmus red, its pH s likely to be:

X119
X283
v'36
X 47

gFoaTTed gy afsar g
Implantation is the process of:
v
T AT F ST W A T AT
attachment of zygote to the lining of a uterus
X 2
ATAT F AR F 37T U g=< &7 [Shrd
the development of a child inside the mother’s body
X3
HIAT & T W SoIbeT & ATCTH § Sror

nutrition from mother’s blood through placenta
, 3107 3R g dreror & farehr

developing an embryo and its nourishment

X

Ans

A foT 1T fYehent F O Efd qeg T =TT R

PUNE : SXQF : CITY :

Select the related letters from the given alternatives:

PUNE:SXQF = CITY:
X . EKVZ
X 2 FLXZ
v 3 FLWZ
X 4 GMVZ

Ans

11111 FTITE:

The square of 11111 is:
< 11234321
< 2321231
< 31223311
o 4123454321

Ans

rT # ¥ FiF @1 a7 3w PRrAfafad gt & 7l < @ wfiafafoc war
A

e, Ryam, sfarex

Which of the following Venn diagrams correctly represents the following classes:

Men. Fathers. Doctors

X
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Q.12 3rejt 3R 31T O Frd B e 6 3 7 Rt F o T weRa €1 Ay At
oo 1 e €, A 3 o X 780 AT e &1 § eIy # 1S 1 4T ey

I

Arjun and Anurag complete a job in 6 days and 7 days respectively. They worked together
and earned a total of ¥ 780. Find Arjuns’s share in this amount in 3?

< 1.560
< 2490
< 3.350
v 4 420

e as FROM F, Fa F & et # 8T Aog § 0
In the modern periodic table, which of the two periods contain 8 elements each?

v 2R3
2and3
x o 13R2
land2
x5 43RS
4and 5
x4 3FR4
3and 4

Q.14

F A T YFS §US TR F G T = 16% amer wfSa el iy
38 TR ¥ T 1,500 F wer or A 38T 38 fhaer F 4=
Qamar gained 16% on the resale of a used stereo. If he purchased the item for ¥ 1,500,

how much did he sell it for?

Ans 1. T 1,660
X 2% 1,600
V'3 T1,740
X 431,820
Q.15

Ans

& % ST H W AT WEA H TIF B

3, 12, __, 21612

Select the number missing from the given series.

3,12, 21612

X 1.150
X 2200
X 3149
v 4147

16 FJaT Y FHS AT T

The unit of momentum is:

Ans

< 1. Kgms?

X 2 Kgms™?

< 3 Kgms

' 4 Kgms™*

Q.13
Ans
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Q.17 38 3eat-3pla & T HL S & T8 T WPl F WE T Wfatag gl

s

>

Fa4qn

Select the Answer Figure that is the correct water image of the given Problem Figure.

Problem Figure

Answer Figures

pdd

v D
X2C
X3B
X4A

Ans

2016 # wefiia g%, Peafafla # & e @ Tge Foaren fewr & Swar 100
T Y FAE F IIF 9 A 372
Released in 2016, which of the following is the first Malayalam movie to cross the 100~

crore revenue mark?

X

X 4

AT

Premam
v T
Pulimurugan
TRIAH
’ Drishyam
3T TeFHA Tohr

Oru Vadakkan Selfie

Ans

ABCS$+#DEF&=7GHI2+@
FRIFA ITFA F IR R AT e 9g & aae H

ADG : +=2 :: CEl : ___

ABCS$+#DEF&=?GHI!2*@
From the above sequence find the missing term.

ADG :+=2 : CEIL:

X 1.D@?
v 2 D?@
X 3 E@?
X+ E2@

Q.20

e B TAAA 37 39 H TOAA 30 F 1.5 TF F 3 a9 FA gl 12 a9 w5
39T T 37 QoA H 3H F 3T T 3 I§ ST M AT H TIAS 37 R 82

Roshan’s current age is three years less than 1.5 times that of Usha’s. 12 years ago Usha’s
age was three years more than half of Roshan’s age. What is Roshan’s present age in

years?

X130
< 239
<333
v 442

Q.21

Ans

o SRt & & rwedr adepa 3w oer 3T 27

Which of the following animals has a comparatively longer intestine?

Shedl
X2

Dog
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El13)
: Tiger
X 3. aET
Fox
o T
Rabbit

Q.22

Ans

20kg 9T T T IFG F 2m H A aF 35T A ¢ 3W TG W
TCAHIOT ot GERT AT T e grem 2

(AT oF g =10 m/s?)
An object weighing 20 kg is raised through a height of 2 m. What will be the work done
by the force of gravity in this process?

(Take g = 10 m/s?)

100 SeT
X S

1007
50 ST
N

507
40 et
~

407
400 TeT

4007

X 2

X 3.

v

Q.23

Ans

A 7w Fyer # wE AfAw 3k R P Hfve & Y 7w FwE F ¥
T &7 & FiF ¥ oo Fee o o ¥

FYT:
el o Fofaar § FE o Foo AT 7@ ¥

forsad:

1. 1 ofr T ok & ¥
2. F1$ s o W 7 T

Consider the given statements to be true and decide which of the given conclusions can
definitely be drawn from the statements.

Statements:

All sharks are fish. No fish is a snake.

Conclusions:

1. No snake is a shark.
2. No shark is a snake.

e AT 2 0T FA g
Only conclusion 2 follows.

LA A1 AR T A 2 HFETOT FA B

X

X

Neither 1 nor 2 follows.

| AT TSy 1 ST A
Only conclusion 1 follows.

|1 3R 2 2t siegeRor w3 E
Both 1 and 2 follow.

x

v
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02 g o 1 TUa H S THE ¥ FEOT 7@ 8

DO

A B C D
Select the figure which does NOT belong to the group.

@ DIO)

A B C D
As 1 C

X 2B

XD

X4 A

% farafaf@d O & fraa Beger §2

How many triangles are present in the following figure?

Ans X114
X212
V315
X416

Q.26 ¥ Redh wet & T Faw ggd & of 3k 5% sgwer A R
ar|
The founded the first city of Delhi and named it Indraprastha.

Ans lm"-l‘i’s'ﬂ’i’

Pandavas

X22
Portuguese

Hiar

Kauravas

X 3.

TS
X4
Mughals

Q.27 5l 5 @y & 30 AR T F $ARA F R F "A7= Hor 30° F T
#r Far$ ot 2
The angle of depression of the foot of a building from the top of a tower 30 m away is 30°.
How high is the tower?

Ans 2043 #HreT
X
20v3m
, 30 AT
30m
§ 10V3 #Hex

10v3 m

x

v
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, 20 #Hrex
20m

Q28 DWT : GZW :: QPM :

Ans

DWT : GZW :: QPM :
v 1 TSP
X2 PST
X3 STP
X4 TPS

o = IF et

X’s rank was 12 from the top. If the total number of students in the class was 16, then X’s
rank from the bottom of the class is:

X116
V25
X34
X47

Q.30 mzﬁsﬁrﬁwﬁwﬁmﬁmlmaﬂmm T o, fem

Q.29 X & 3R F 124 ¥& off| 3R e & o H Fo FEAT 16 off & X F AT
Ans

é:wm;wa»‘r mmsﬂrﬂwzﬁ#wmtﬁ#wﬂmmm
ar?

Tapan, Ravi and Trisha shared a cake. Tapan had of it, Trisha had of it and Ravi had
the rest. What was Ravi’s share of the cake?

Ans J1 1
12
4
X2 7
2
X3 .
1
x4 p
Q.31 T AF F HUR F &G 641 T3 HEA § Fafer swahr e Fr$ 17

Ans

FIAET §1 $W AT F AW AT ToT F & e By F dAw far mw g
=W aiter Fr =2 fnaer g

The area of the base of a cone is 641 cm? while its slant height is 17 cm. This cone is
remolded to obtain a solid sphere. The radius of this sphere will be:

‘,1_2\/%%11121

2330 cm
2 8330 T
8330 cm

x 5 6.5 FEHAT
6.5cm

. 2320 d&eeT
23/40 cm

Q.32 39 T THRETHT FRTET frdhe #T & oae T a1y TgeT SIRAT

Ans

gt il 2 3T Remdr & a¥ 2016 # g qatey @ifda o

Who is the first Indian player to score a century in his debut One day International Cricket
match? The said player achieved this feat in 2016.

SRI?-l' qeaT
J ayant Yadav
HI0T ARR
Karun Nair

v &.T. g
K.L. Rahul

x4‘mﬁwti'sm

Hardik Pandya

X2

Q.33

37T HTFAFS HAN B &:

Non-metal oxides are usually:
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Ans wm

acidic
Erey
basic

sHauAf

3.
amphoteric
x4 ECA O
neutral

X2

Q.34 7= o 5 G fEt § & 7% F e F v wAe g g € 5w
RdeT & Ta F ot T C & Rw 1w wed Rewt (?) #F dga T €1

A B [
Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure C.

as X145
v 37

X335
X+ 47

Q.35 3mfie FFerOT 2017-18 & HFER, HRA & Tehel W[ 3c71E (GDP) # Far &5
F1 gfaed aeee FafaRa & ¥ 5w @ & e aemr?

As per Economic survey 2017-18, the percentage contribution of the Services Sector to
India’s GDP will be in the range of:

Ans X1 30-40% o &r=r
Between 30-40%
40-50% & &=
Between 40-50%
50% & 3fo=
Greater than 50%
. 30% ¥ &F

Less than 30%

X 2

Vs

x

Q.36 F ARG F AN F 0T F A7 Y o ST Far g

is known as India's Spice Garden.

Ans K1W

» Mabharashtra
TAEATA

2.
Rajasthan
X3 FaAeH
Karnataka
e

Kerala

v

7 co, & Fraa Fr gfaerd A= R g §
The percentage of carbon in CO; is:
Ans X144
V2273
X314
X412
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Q.38 g% W wAYEs far F ik ot & B swe @ & s wa @

Ans

Eccclniiog Nl
a*.

T WIfOERToT & =o fi off fF aF AR ¥ & o & fow @l sk
TAIR & AT TSH FEAT H 31 FH LE B

HART:

1. diret @ dereit 3 gEGR & @ e AT A AT $HEF T a
#r WA B

2. ISR 3HeATaed® FFAT F A ANTRS! H @A FT W@ B

Consider the argument and decide which of the given assumptions is/are implicit.
Argument:
The highway authority had announced that it will be undertaking a major road repair work

for three days beginning Friday between Bangalore and Tumkur.

Assumption:
1. People need to plan accordingly for their trip between Bangalore and Tumkur.

2. The authority is troubling citizens with unnecessary repair work.

o, A IRa@r2f@dRa e
Neither 1 nor 2 is implicit

i Fao A 2 Ak @

| Only assumption 2 is implicit

2, | 3R 2 gt fafea €

Both 1 and 2 are implicit
Fad A 1 e &
4.

Only assumption 1 is implicit

x

v

Q.39 I T IF] THEA e T 39 F ¢ A etarld § § He @

Ans

afafda gr 82
‘Which of the following changes when a body performs uniform circular motion?

1 aife
Speed

ScTATT
Mass
o=
Direction
TaeT

Momentum

X2

v &

X 4

Q.40 & =1$ gl Fr T gUv-ohy I AR R @ ofvem AMfeshr @ A

Ans

~
N

LLLLLL L7777

Select the correct mirror image of the given figure if the mirror is placed horizontally as
shown.

£
\

~N
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Q.41 T garT 12 Femsdt F g dwd 37F 24 ¥ Jaar F 39 7% 23 e
3 I fhT ¥ AftheT 3E Faer 9 wlient & ¥ AR v Wew A 30 F &
¥ R 1w €, & e # 9w e whemst F §, B o A FA d FA
e 3% TR ToT A g, A1 Tg TG F T FT FEA FA H
Hiwr o TH?

The average marks obtained by Raghav in 12 tests is 24. Zubeida has maintained an
average of 23 so far but has taken only 9 of the tests. If each test is out of 30, at least how
much must Zubeida score in any one of the remaining three tests to still have a chance to
match Raghav’s performance?

ans X119
V221
X320
X422

Q.42 3R # 3R F§ FA g, W, 9 Fr gE H feww # 45° ;s 7, AR AW
ot F ge F Roda feer F 135° it fw g7 wf F g H few F 180°
= 71 e 7, fw Rer fr sk Smd gr e @ R

Facing North, Aishwarya turns 45° clockwise, then 135° anticlockwise and then 180°
clockwise. Which direction is she is facing now?

e, a
South

X 2
North

Vs q|\é’
East

ofeH
West

X 4

Q.43 TEr ¥ e &5 F T600 HY UAURY B FAT FAT AR 3H 8% iy I @
HIROT 4TS 9Tod g 31 ARy T & 5 At o dF F gy @ w@r ar sy
A & T F fhael TR g geire

Rahi deposited T600 in a bank that promised 8% simple interest per annum. If Rahi kept
the money with the bank for 5 years, she will earn an interest of :

Ans X 1. 3280
X 23200
< 33480
W 43240
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Q.44

3ealk 3THTaat (Answer Figures) # & weet RgsT & T W 31 arel WéY
Eieaci:cil

X2 4
X33
X1

Q.45

8% FTEIROT AT 1T & G W S el 22 awf & T 300 & S 21
ffda aerifar @ 82

At 8% simple interest per annum a sum of money becomes ¥ 300 in 2% years. What was
the sum invested?

X 1.3 240
X 2.3 260
X 33275
v 4. 250

Q.46

TR SIEEH & FW F, Tk T F Fewi?ed  HOT 30° AT TR 45 He Fr
o 3R corewR qur et F A AT g 40V 3 Hex o orewied Hr Farg
Foraer ofr?

From the top of a platform, the angle of elevation of a tower was 30°. The tower was 45 m

high and the horizontal distance between the platform and the tower was 403 m. What
‘was the height of the platform?

X1‘4oﬁm
40 m
‘,-2_53412?
5m
x3.20\/§3ﬂ2‘{
20v3m
445\/51112'(
45\3m

x

Q.47

rafof@e # & #la @1 a7 #30 & e IO # F S-vogfafs H
STETE BT 87
‘Which of the following elements replaced eka-Aluminium in Mendeleev’s Periodic

Table?
x | THETH
Scandium
sHfeTw
Germanium
«' 3 m
Gallium
X 4 ?

Titanium

X2

Ans

A,B 3R e e 13 #7110 et & wara w3 # AR B fAeew
s FF F 12 R & garg #@ & 59 Bk ¢ & @y B s@ a
120 e # 9 F3 § IR B3 3W FE A FY A W I F Q@ F
# e e oerr?

A, B and C can complete a task together in 10 days. A and B would need 12 days if only

the two of them worked, while B and C would take 20 days if only the two of them
worked. If B worked alone, how many days would she take to complete the task?

v 130
<222
<320
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X 445

Q49 & 715 P FT T H TN ATeN TG FhAAT I |

Problem Figure

A

O

Answer Figures
2D DY <
A B C D

Choose the correct water image of the given figure.

Problem Figure

A

O

Answer Figures

D2 Do | Dol 1<
Ans X“IAA ?

XD

VB

XecC

Q.50 A (mitosis) &F =WOT F AH FAC, FrwF SR Fla ¥ F qUrgE
7T W@ W g @y

Name the stage of mitosis during which the chromosomes of a dividing cell lies at the
equatorial plate?

Ans ) m

v
Metaphase

et

- Prophase
TATH S

' Anaphase

[l
Telophase

X2

X3

X4

Q.51 afe7ar 97 2 ¥ei & fore ofrear & 1 atar § 3R o fowt 7 16 Trqe R Far g,
3R 30 3= Rrar Y- 8 52 F1 e € 3 v R 3 24 T AR e , s
FFT W HE?

If a young son works quickly for 2 hours and prepares 16 items in a day, and his old father
works slowly for 8 hours and prepares 24 items in a day, which of the following is true?

Ans g & FaAr ¥0F B
X2

The son has more energy.
| T e aifire gl
| The son has more power.
o 21t Fr I Th FAA &
Both have equal energy.

x4 arT Fr orfeFa v FHEA g
Both have equal power.

v
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052 aFTEET Yo AT

Hydra reproduces by:
x 7§ P T

Multiple fission

x2 s faEsa g@nrr
Binary fission

3. Frasa &
Fragmentation

4. W m
Budding

Ans

X

053 rfaf@a # ¥ Fia 91 v TsueiRe
Which of the following is a Pythagorean triplet?
Ans  X'1.7.9.11
' 28,15,17
X3235
X< 4.17,.21,29

@ T T ITHA & oo UG fAdwear ¥ g

Y-25, W-23, U-21, 8-19, ?

Select the term missing from the given series.

Y-25, W-23, U-21, $-19, ?
ans X 1.Q-10

X288

X3 P-16

v+ Q-17

e

Which of the following processes will take place the slowest for the same quantity of
liquid?

Ans FaUT
h Boiling
feas

Freezing

X 2

I EGGE
Condensation

arsdeRIoT

Evaporation

X 3.

v s

4% Fegey F gHA TH g g
A computer always has a:

e

1.
Keyboard

v T
CPU
x 3 Tied F1E

Q.55 Rt R A FA A F v Fafaf@a 73 g afear & afs gag defr
Graphics card
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Xa

ABH
Mouse

@7 Fa T A wEE 39gFT AT o |

18 diee =

x3 3EA |

Fill in the blank with the most appropriate option.

18 volts =

v 6 TFERR
6 amperes
6 ST

X2

6 joules

x3 ohms.

x36fh?4’|m=ﬁw

6 milliamperes

46313
6 watts

Q.58 @ H{aE, Hiom Fwy, T I 3N oo davssy Sniy e & fovw aer
sfefar # v gy & Rars dordr 82

These regional teams: Dabang Mumbai, Kalinga Lancers, Ranchi Rays and Delhi
Waveriders play against each other in which sports league competition?

x

1'Q‘rm3§ra'mr

Pro Kabaddi League
x , TSCS ATERCAT TAEH
United Basketball Alliance
s sf3ga RfFaT <
Indian Premier League
. 6 s

Hockey India League

Q.59

TH & e $r 37 A F 37 H A ¢ 8 I ug A & Ry F 3w wH
& 37 $ 2.5 T N TF H FTOAE 37 F7 2

Ram’s father is twice as old as Ram is. Eight years ago the age of Ram’s father was 2.5
times his age. What is Ram’s current age?

Ans
xyzz EL)
22 years
x, 28 EL)
23 years
v 24 I§
24 years
x .25 a¥
25 years
Q.60 ur=T A 3 C Rt @rel ¥ F Faer: 32 3k 48 wel # W wHES ¥, Tl

Ans

9IST B s g &F F 24 ©E H WA X THA gl IS At e o ggT
T f@ar e A & Y 2/3 A A A 9 e

Pipes A and C can fill an empty cistern in 32 and 48 hours, respectively while Pipe B can
drain the filled cistern in 24 hours. If the three pipes are turned on together when the
cistern is empty, how many hours will it take for the cistern to be 3 full?

v .64
<296
X372
<448
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Q.61

Ans

RT 71T o W AR X 3R 97 F F PRy swE § @ Fa-ar sua
e HT Fecl &t & forw v §

14$20+8#4 1 AT T &7

FYA:

1. $ & T -, « F AT +, # F A +
2. 1482048 = 25

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the value of 14$20*8#4?

Statements:

1. $ implies -, * implies +, # implies +
2. 14820*8 =25

X1
AT FUF 2 qACT § FafE Fao FUF 1 qATT 784 g

Statement 2 alone is sufficient while statement 1 alone is insufficient
XZ;ra’rmrrM AT § T FUT 2 &
Neither statement 1 or 2 is sufficient
3
AT FUA 1 9T § FHafF FIT FUF 2 qATT A8 &

Statement 1 alone is sufficient while statement 2 alone is insufficient
x o U 1 3K 2 =t g §

Both statements 1 and 2 are sufficient

Tgell Bl e HEAT3HT 1 3ET T 82
What is the mean of first hundred natural numbers?
v'1.50.5
X251
<350
X 4515

Q.63

aﬁmﬁ?g@#ﬁm&ﬁmﬁqp@#mﬂ#am#ﬁz#ﬁw
&9 # @ & F v 3IGAT FIEE I37 A2

‘Which assembly constituency within Chennai city was forced to have a recent by-election
because of the death of then Chief Minister Jayalalithaa?

. TaTTH
Royapuram
v . TR
RK Nagar
3.
Saidapet
, ATFAT ASCH

X 4
Thousand Lights

Ans

T GIpd TEAT H A 4,567 7 & RenfaT Far ar & 9@ qar &
AY 3Frar 3l U FEY X F&IT = e

A natural number, when divided by 4, 5. 6 or 7, leaves a remainder of 3 in each case.
‘What is the smallest of all such numbers?

< 1213
X 2843
V'3 423
X 463
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065 @Tel FAUTH H A aTel W AT A A

N
B

Fill in the missing space with the correct figure.

N
L

Ans K-]C
X2 A
X3B
v 4D

Q.66 I T Fuad A T AT IR AR Pl AT F RF e Fm d
RTT &7 ¥ Fia ¥ sy P o @ §

LoCH
aiET F @ AT FS T dgaw HiIST F T owd F a @ @ §

forsd:

1. T FEE A e F e By ger afee
2. gl AR afat & Few qRgea Jast F iy @ ke

Consider the given statement to be true and decide which of the given conclusions can
definitely be drawn from the statement.

Statement:

Many people living in villages relocate to cities for a better future.

Conclusions:

1. Government officers should have compulsory
rural posting.
2. Increase more transport facilities between cities and villages.

Ane w_;raﬂsﬁr;r?rzsqgmmh

Neither 1 nor 2 follows.

| Fa s 2 srgEeor e g
Only conclusion 2 follows.

A T 1 Hgar X 2
Only conclusion 1 follows.

1 3R 2 @t siegeRor w3 &
Both 1 and 2 follow.

x

X

x

Q.67 T FEFIST A H, T goiaEier 5.0 x 107 m Fsam Hr e # 2.2 x 10° ms 7ify
W T § | FAGeY faege arr Fr &2 (Rrega smaer= 1.6 x 107 )

In a hydrogen atom, an electron moves in an orbit of radius 5.0 x 10~*!m with a speed of
2.2 x 10° m/s. What is the equivalent current? (Electronic charge = 1.6 x 107 C)
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Ans  X'1.0.112 mA
X 2112mA
X3 11.2mA
v 4 1.12mA

Q.68 T 1T Fafd AL @@l F HUR W IFIRRTT AqeE F TAF FY

D@y ogear - W
Select the missing term based on the given related pair of words.

: Hand :: Sole : Foot

Sl

Finger

Fd

Palm

V2

Q.69 fFy JRAT HHATT (S aC &F TST=aT &) F 2017 F fheAhmR TBHeRH
T RN oIS T2
‘Which Indian actor-turned-politician won the 2017 Filmfare Lifetime Achievement
Award?

Ans x . Qma
Dharmendra

, T e
Shatrughan Sinha

x5 (aeG T

Vinod Khanna

x , AR FoTT
Amitabh Bachchan

v

Q70 36, 54 31T 108 FHT A. T fargawr grem?
The HCF of 36, 54 and 108 is:
Ans X112
V218
X36
X409

Q.71 2018 &, Frafyezmea e T (ZSA) & e Fa E
As of 2018, who is the Chairman of the University Grants Commission (UGC)?

Ans
1. e wgage
Anil Sahasrabudhe
v g 4. g
D.P. Singh
3 ! 2
Najma Heptulla
x o TF. W
V.K. Saraswat

x

Q72 Ryrfaf@a & ¥ sl & sifds af¥r 37 A 7 Fgarcdr &2
‘Which of the following physical quantity measures the rate of work done?

Ans ol
;

Force
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X2 Far
Energy

v T
Power

x o T
Momentum

Q73 g ¥ fohw TE # THA T FIRAT TE; &7
The square root of which of the following numbers is irrational?
Ans - X 1. 3969
v 2 6560
X 3. 5625
X 41764

0'74 Distribution of various Minerals in Human Body

\
&

Magnesium

%
Potasiur

ox
Calcium
5%
Iron
aCacm @ Magnesum = kon = Potasium = Sadum

Distribution of various minerals in the human body- Aea ¥ # e
foreew @ faawor

Calcium- &feerrs
Magnesium- #7fRas
Iron- gT

Potassium- srefwrms
Sodium- T@fETH

oz wrr ME AT W) F @t Fr A A R #
R 1w st & HUR W, AT 89R F g Taw A0 g AR g@y
FEY FH FRT AT UG F NI FAE?

Distribution of various Minerals in Human Body
Sodium
e

%
Potasiur
0%
Calcium
5% ‘

Iron
18% Magnesium

Magnesum +won s Potasium = Sodm

The given graph shows the distribution of minerals in the human body.

Based on the given data, what is the ratio of the metal with the second highest percentage
of distribution to that with the second lowest percentage of distribution in the human
body?

Ans 1.2 01
X21:2
X33:1
X441

Q75 forg GTee cafed o T JAGETS A1 A1 Tea o §7
Which celebrity is the author of the book ‘An Unsuitable Boy’?
1 g g
Khuswant Singh
) AIFEZICREIC )
Shah Rukh Khan
e faegr
3.
Shatrughan Sinha
! ST
Karan Johar

Ans

x

x
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